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TOURISM ADMN. AND MANAGEMENT
Paper -1l

Note :

1. According to the League Committee,
a tourist is a person visiting a
country

(A) Other than that in which, he usually
resides

(B) Inwhich, he is genuinely interested

(C) To which he migrates on a
permanent basis

(D) He likes to visit

2. Local is also referred as
(A) Accessibility

(B) Accommodation

(C) Attraction

(D)

D) Amenities

3. Which one of the following is essentially
needed by a domestic tourist ?

(A) Medicines

(B) Foreign currency
(C) Local currency
(D) Passport

4. When was IUOTO formed ?

(A) In 1949
(B) In 1947
(C) In 1953
(D) In 1975

K-1113 (3)

This paper contains fifty (50) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

5. The supreme and sovereign body of the
WTO is the

(A) General Assembly

(B) Execute Council

(C) Secretariat

(D) All of these are Supreme and Equal

6. Which mode of transport has led to the
cultural unification of India to a large
extent ?

(A) Road

(B) Rail

(C) Both rail and road
(D) Air

7. Match an item in List — | with an item in
the List =1l

Name of Ruler Dynasty
List -1 List—1I
[) Mahendravarman 1) Hoysala
Il) Vishnuvardhana  2) Chalukya
[Il) Pulikesin 3) Maurya
IV) Asoka 4) Pallava
Codes
I Il Il v
(A) 2 1 4 3
(B) 3 2 1 4
©) 4 1 2 3
(D) 1 4 3 2
Paper Il
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8. Which one of the following is not a type
of tourism carrying capacity ?
A) Physical

(A)
(B) Heritage Related
(C) Legal
(D) Local

9. Which one of the following factor does
not affect or alter tourism carrying
capacity ?

(A) Environmental (B) National

(C) Global (D) Terrain

10. Given below are two statement, one is
labelled as Assertion (A) and other is
labelled as Reason (R)

Assertion (A) : Tourism Industry in India
has so much scope for growth but not on
a very large scale.

Reason (R) : The financial results of
SUTC, indicate the fact that its business
has registered a growth of 25 percent
during the previous Fiscal year.
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) true, but is not the

correct explanation
(C) (A)istrue, but (R) is false
(D) (A) is false, and (R) is true

K-1113

11. Match an item in List | with an itemi
the list Il

Tourist Centre State where it

is located
List-1 List-1I
[) Mount Abu 1) Tamil Nadu
I) Jog Falls 2) Odissa
[II) Doddabetta 3) Karnataka
IV) Mahendragiri Hills 4) Rajasthan
Codes :
I Il Il v
(A) 4 3 1 2
(B) 3 2 4 1
(C) 1 4 3 2
(D) 2 1 3 4

12. Which of the following is not part of
Leipov’s tourism system ?

(A) The traveller generating region
(B) The accommodation region
(C) The transit zone

(D) The tourist destinations region

13. Arrange the following organisation
in the chronological order of their
establishment

) UFTAA,
) UNWTO

) 1ATA

IV) PATA

(A) 1L, 1V, 1, 11
(B) 1, I, I, IV
(C) 11, 1, 11, 1V
(D) 1, 1, 11, IV
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14. Atal Bihari Vajpayee Institute of
mountaineering and allied sports is
located at

(A) Kufri
(B)
(C)
(D) Darjeeling

15. The body responsible for classifying
hotels in India into star category is

(A) HRACC
(B) FHRAI
(C) HAI

(D) IHMC

16. Indian Airlines Flight IC995 departs
Bangalore at 18.50 hrs (+5.30 From
GMT) and arrives at Muscat by 20.30 hrs
(+4 hrs From GMT). Find the flying time

(A) 2 hrs 20 mints.
(B) 3 hrs 10 mints.
(C) 1 hr 30 mints.

(D) 9 hrs 30 mints.

17. The acronym ‘TBRE’ form stands for

(A) Tourist Baggage Registration at
Entry Form

(B) Tourist Baggage Re-Export Form

(C) Tourist Baggage Register Entry
Form

(D) Travellers and Baggage
Reservation Entry Form

K-1113

18.

19.

20.

21,

22.

23.

Advertising used in the early stage
product life cycle is called

(A) Pioneering advertising
(B) First stage advertising
(C)

(D) Open advertising

Launch advertising

The scheme of ‘Visa on Arrival’ was
launched by the Indian Government
from

(A) Jan. 2009

(C) Jan. 2010

(B) April 2008
(D) Dec. 2009

Research methodology means

(A) A way to systematically solve
research problem

(B) Methods used for conducting
research

(C) Formulating research design
(D) Evaluating research hypothesis

In which of the year Mysore State was
renamed as Karnataka State

(A) 1974 (B) 1975
(C) 1980 (D) 1973

Identify the name which is not a water fall
in Karnataka State

(A) ldaguniji (B) Gokak

(C) Unchalli (D) Abbe

Identify the place which is not a Wildlife
Sanctuary and National Park

(A) Sasan Gir (B) Jimm Carbett
(C) Kaziranga (D) Sanchi
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24. Kudalasangama pilgrimage centre is
situated in one of the following district

(A) Bijapur (B) Bidar
(C) Bagalkote (D) Gulbarga

25. |dentify the festival among the following
which is not secular in nature

(A) Onam

(B) Independence Day
(C) Republic Day

(D) Kumbamela

26. Tribal tours are reputable in one of the
following states

(A) Tamil Nadu
(B) Andhra Pradesh
(C) Madhya Pradesh
(D) Karnataka
27. Nagaur Fair (Cattle Fair) is one of the

largest in India conducted annually in
one of the following states

(A) Tamilnadu

(B) Uttarpradesh
(C) Rajasthan

(D) Madhyapradesh

28. Assertion (A) : Urban fringe is the
surrounding areas of large cities which
have strong socio economic link with
city but yet not part of the city
Reason (R) : Rapid growth of cities lead
to urban fringe development
Codes :

(A) Both (A) and (R) are true but (R) is
the correct explanation of A

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of A

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true

K-1113

29. This is a list of luxury trains and its
location. The candidate has to match
items in List | with that in List |l

List-1 List-1I
(Luxury trains) (Location)
[) Orient Express 1) Karnataka
) Blue train 2) Rajasthan
lIl) Palace on wheels 3) Europe
)

IV) Golden chariot 4) South Africa

Codes :
A I -

<
|
A NDRA 2 AW ANDNON AN -2 W

30. Breaking down the market in to different
segments and then concentrating efforts
to one or a few focused area is called

(A) Market positioning
(B) Target marketing

(C) Market segmentation
(D) Specialised marketing

Paper Il
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31. India’s first planned beach development

project is

(A) Kovalam beach
(B) Marina beach
(C) Colva beach

(D) Bekal beach

32. Assertion (A) : Air India introduced Air
India Express in 2005

Reason (R) : To provide more air

connectivity to Europe

Codes :
(A) Both (A) and (R) are correct
(B) (A)is correct (R) is incorrect
(C) (A)isincorrect (R) is correct
(D) Both (A) and (R) are correct, but
(R) is not the right explanation
33. Which of the following is a heritage
hotel ?
(A) Maurya Sheraton Delhi
(B) Juhu Centour, Mumbai
(C) Rambagh Palace, Jaipur

(D) Leela, Kempeinsky, Mumbai

K-1113 D)

35.

36.

37.

marketing mix in the parlance of tourism

administration ?

A) Hotel

B) Computer for CRS

C)
)

Finance for a resort

(
(
(
(D) Airport Lounge

Under the ABC scheme, airfare may

include
(A) Only the ticket price
(B) Ticket price and meals

(C) Ticket price and arrangement for
movement on the land

(D) Ticket price and accommodation

An airline is buying a cruise line. What is
the type of expansion of this product line ?

(A) Vertical

(B)

(C) Both A) and B)
(D)

Horizontal

Cluster

In 1995, the paying guest scheme was

transferred to
(A) The FHRAI

(B) Respective state government
(C) ITDC

(D) The WTO
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39. FPNT CINTYTIO RETITOTT BREIT
WBRORRT 2 ?
(A) 37 BREE (ROBE Reddnwbd)
(B) ¥nesm® Reoonsd
(C) InH BB
(D) ﬁéo QeRF
40. TpeIdS ATHRO TFoOS BRTE TTT, TN
O3RTOOT NS TREIT YVTTOT
FOOIRE 08 0T ei’@mﬁw&xﬁa ?
A) ©8ne B0
B) 33203 o3
C) 33 5003 (SmRod)

(
(
(
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)
)
)
)
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42.

43.

44,
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B0 - 320 BRI
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38. Equity theory is best defined by which
point ?
(A) Managers want to maximise the
rewards they receive
(B) People can reduce perceived
inequities only by reducing output
(C) People are primarily concerned with

fair treatment in relations to others

(D) Managers are the best judges of
what is four and equitable for

employees

39. Which of the following is not a reward for

shareholder’s investment ?
(A) Scrip dividend

(B) Bonus shares

(C) Cash dividend

(D) Right issue

40. A performance metric in the hotel
industry which is calculated by
multiplying a hotel’s average daily

room rate (ADR) by
(A) Number of guest
(B) Occupancy rate
(C) Room revenue

(D) Number of rooms

K-1113

41,

42,

43.

44,

Total Number of P

A child in his/her teen can be
accommodated along with his parents,
in a

A
B

Double-double room
Queen room

(A)
(B)
(C) King room
(D) Triple room

Which of the following is not a Tourist

Infrastructure ?
(A) Water supply
(B) Power supply
(C) National park
(D) Sewage system

Identify the aircraft which does not use

Jet technology
A) Boeing 747
B) Airbus A300
C) Airbus A320
D) Douglas DC - 6

In which of the following types of Tourism
planning the space as well as the
environment is scrutinised for creating
quality infrastructure.

(A) Spatial Tourism Planning

(B) Environment Tourism Planning
(C) Sustainable Tourism Planning
(D)

D) Integrated Tourism Planning
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45. a’@gar{%b OB LNET FOWORAT Teans
a’éi 29T, mi | Seolr w&i Il abq Sively

BRODTUIEB
Ted — | (Sporisd) =3~ 11 (Besned)
) R 1) RO
II) Fpeers eoNT  2) WROF
) eesze 3) s
V) 3¢ 4) ST
Bode3nsd
| il ] v
(A) 2 1 4 3
(B) 1 2 3 4
(C) 3 4 1 2
(D) 4 3 2 1
46. 53300080 NEIT C3RERS )
WHNRORT.
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(B) 3282, WINS LuBTZ0 Bn3
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47. PT3T COOIRT LS50 FOBX B8 WIT
R 063 oD’ BEHR, CARR)TOT
SReBRYg ToNTs ?

(A) 230763

(B) RTFTT® wFR
(C) @00TT TIRS®
(D) oom»odes

48. @’mﬂmdéa’n Mmmméﬁmg
RITEIMOF @@gﬁd @Smd @% needEn
BSNT 03N YVTOBTEBOIRNG ?

(A) moﬁﬁ% Si=IpicRe
(B) m=32im Tomseodd wr@rined
(C) womOecd wrrined
(D) Sozes @;d Si=IaioRe

49. TR TITIODRY, FPNT 03P AGTE,

SOXBRYIRTOOT ROMEORRPRLITIT ?

(A) 2308020 BRTERYTO/ BT BERRITYTD
(B) Se3mno0ewdd
(C) moxF w8 R0T3E
(D) M8 ST

50. 2T, ToTYOFN SONTLO VLR

RN QR TR TP T 0TI
(2Rt Bowo) d@{ 20T BT ?

(A) CR0AT DR
(B) &8 NeR

(C) 08§ Qe

D) cadrioe Qex

Paper Il

K-1113

111111 q.5tudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

45, This consists of two list of cities and
countries connected, the candidate has
to match an itemin List | to an itemin List II

List—1(Cities) List—Il (Countries)

i) Munich Mauritius

ii) Port Louis Germany

iii) Beirut Fiji

iv) Naeli Lebanon
Codes

I Il I v

(A) 2 1 4 3
(B) 1 2 3 4
(C) 3 4 1 2
(D) 4 3 2 1

46. American Meal Plan includes
(A) Room, Breakfast, Lunch, Dinner

(B) Room, Breakfast only

(C) Room, Breakfast, Lunch only

(D)

D) Room, Breakfast, Lunch/Dinner

47. The word "Satyameva Jayate" inscribed
below the base plate of the Emblem of
India are taken from

(A)

(B) Satpath Brahmana
(C) Mundak Upanishad
(D)

D) Ramayana

Total Number of P

48. Which one is an example of non
marketing trade barrier in tourism

marketing ?

(A) Cultural barrier

(B) Socio political barrier
(C) Environmental barrier

(D) Technological barrier

49. Seasonality of travel can be smoothened
by adopting which one of the following

method

(A) Advertising

(B) Direct marketing
(C) Public relation

(D) Consumer protection

50. An endorsement on passport issued to
person who wishes to stay in Foreign

countries temporarily is known as
(A) Tourist visa

(B) Transit visa

(C) Entry visa

(D) Immigrant visa
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